
2000

取付詳細図 ベース部詳細図

11 × ＠150 = 1650

2000

1
0
0

6
01
1
0
0

B

B

100

175 175

9
2
0

バラスター
5
0

6.5

60

A～A断面図

A

150

120
A

正　面　図

50

1
0
0
3
0

75

5
0

1
8

30

B～B断面図

6
4

1
8

6
0

8
2

20

1
1
0

80

1
5
0

2
0

120

2
0

20

1
0
0 3
0

5
0

9
2
0

側　面　図

ベース式

PG - 20 - 11 BP

クリップ A5052P

笠木レール

ベースボックス AC7A - F

インナースリーブ

PG - 20 - 11 BP
材　質

A6061S - T6 相当

A6063S - T5

同　上

同　上

同　上

同　上

品　名

笠　　木

下　　桟

支　　柱

1
1
0
0

4
0

インナースリーブ

笠木クリップ
150 × 55 × 5

支　柱

M5 × 12

75 × 24 × 4
クリップ

φ4.5 × 20
M5 × 12

φ4.5 × 20

φ4.5 × 20

M12 × 100

バラスター

下　桟

笠木レール

笠　木

ベースボックス

M12 × 100

3
.2

M8 × 10

M8 × 10


